PHYS 101: General Physies 1 KOC UNIV ERSITY Fall Semester 2012
College of Arts and Sciences
Section 1 Quiz 2 4 October 2012

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:
The graph below shows the velocity of a motorcycle police officer plotted as a function

of time. (a) Find the instantancous acceleration at =3 s, at (=7 s, and at t=11 s. {(b) How
far does the officer go in the first 6 s? The first 10 s? The first 14 s?
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Name: Student ID: Signature:

A test car fravels in a straight line along the x-axis, The graph below shows the car’s
position as a function of time. (a) Find the car’s instantaneous velocity at points A, B, C,
D, and E. (b) Find the car’s instantaneous acceleration at points A, B, C, D, and E.
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Name: Student ID: Signature:
A cat walks in a straight line. The graph of its velocity as a function of time is given

below. (a) Find the cat’s velocity at t=4 s and t= 7 s. (b} What distance does the cat move
during the first 4 s (between 0 s and t=4 5)?
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A ball is thrown vertically upward with an initial velocity vy, Find an expression for
the height of the ball at r=t,,/2 where ¢, is the time it takes for the ball to reach the
maximum height. You should consider the gravitational acceleration to be g. Your
answer sould be a function of vy and g only.
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The acceleration of a bus is given by a,(t) = at where @ = 1.2 m/s®.
(a) If the bus’s velocity at /=1 s is 5 m/s what is its velocity at =2 5 ?
(b) If the bus’s position is 6 m at f=1 s what is its position at =2 5?

a\) Given "ol de=d y Gy sm Tl 5

O ) E k) o

— é: of & mi S v
: H%:'i,,_ o
'&5““{@:} e ,ﬁii Q?M & ‘
/ L

.
i) e A At = Donls
A 4= L | iy

@iéﬁ E“E‘;g o BT ﬁmx&j

= L! 'EJLMES
Aic A= 2 o2y Ay Ll ﬁ%mw e L %mﬁj
L
ﬁ’j ?(gg}::- ”?J},m?ﬁ . iﬁg”f’{@%ﬂ E‘S } .Z%m{
LQ> "”Xm&'wé@ i : (,% /
..... &w{«{:- L{qm} d g‘ w)= Mdrm
5 !

4 € = é{v} %
Eﬁw%«:: i =) }qu) 4 Omid. jﬁ,é ,‘%(\%L ES)-}LS{ -
%‘é?&% . “ﬂé’*’%
o ﬁ(’%m



